347

347A

A

ARG %ﬂ%%ﬂ%%ﬁ%%%%%%%ﬂﬁ%
i R [rA

Al ol 5 e

gl g lidsd egle o gliy
PR W BT LRy oy

[ IVAY Sl J310 diw gl w31 ol )15 500 499 (59959 o903l ]

[“‘W W (550 Pl a4 goo ]

B3 VA 2 g8l rike Vo 2l Shass [

A A
= R R
FarAdA
b o T ari
R AR i

I-u-‘bglrd' ﬂJ'uhﬂ:‘ ] alaay Luibﬁﬂ' HTF IJ1!:"'

8lond U | gl 1 | Jgas 3lani losl slgs 3,
¥ * r. e g pesas ol |
= i . e tde s i s S i sl LS ollintons) dsgese =

e L e
kre Vi T P iPmpd | T
¥ Nk r. prkiad il Li
\Ee W To (oledps yaliscdb) couts s | @

Ayla i e ped g0l t.:.'l'.‘.l
A e ol sdile ) ealaiul

[ 1YY Jlo = ole cpote

g by oy ity s by dilon Jonn e o oo L g Bl g il ol ol g ey 3T (0 ) o (oo g g ST gy o0 g M g S il

R R R&R & R R R R R R R R R R R R R R R G

RERE[ R R R R R R R R R R R R R R R R R R R

d g0 3O I of (wll JU5 590 3T W gus AS 3 glils



¥ axio 347A S99l pole - (culidiium 5 argorna (905

PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence, Then mark your answer sheet,

1- Before yvou --eaeuee -- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---eeev- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author vsed --—-----—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -=---aauev matter.
1) contradictory  2) consistent 3) colloquial 4} trivial

6- The police wondered about the man’s ~——-—---- for committing the crime,
1) inhibition 2) motive 3) impact 4) inspiration

7- While most ¢club members have agreed with the decision, I expect Ricky to --—--——-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --———- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4} deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
——-——- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to -------—- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) —mmmmmmm—- the desired crop relatively unharmed.
Some of these act by interfering with (12) ====--=--- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites, railways and railway
embankments are not selective (13) =—m=mmem-n all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems. and management of areas (14)
———————— as wildlite habitat.

Some plants produce natural herbicides. (15) ====mmee- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides, and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed
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13- 1) and kill 2y killer of 3) to kall 4y which kill
14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3) or 4) includes

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best cheice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Zooarchacology refers to the study of animal remains excavated from archaeological sites. The
goal of zooarchacology is to understand the relationship between humans and their
environment(s). especially between humans and other animal populations, Biological research
in zoovarchaeology includes exploration of extinctions and changes in zoogeographical
distributions, morphological characteristics, population structure, the history of domestication,
and paleoenvironmental conditions. Zooarchaeologists use systematic nomenclature primarily
for the identification of taxa recovered from archaeological sites. This should not be confused
with taxonomi¢ classification, which involves “ordering of organisms into taxa on the basis of
their similarity and relationship as determined by or inferred from their taxonomic characters.”
The study of animal remains from archaeological sites requires a sound biological foundation.
Without this background. the faunal study is. at best. incomplete and. at worst, inaccurate.

16- Where are animal parts found in zooarchelogical studies?

1) Graves 2) Gardens or zoos
3) Rocks 4) Underground lakes or pools
17- Which discipline is zooarchelogy closer to?
1) Embryology 2) Physiology 3) Ecology 4) Paleontology

18- Which of the following is zooarcheology related to?
1) A survey on deteriorating events on species survival
2) Biodiversity and conservation of species
3) Biogeography of extant species
4) Population dynamics
19-Compared to a taxonomist, what is the purpose of the use of nomenclature by a
zooarchaeologist?
1) Revealing species identity
2) Naming the recovered species
3) Finding novel taxonomic characters
4) Finding similarity and differences between recovered species
20- According to this passage, which of the following is true about zooarchaeological
studies?
1) They are related to biological sonar system.
2) They are related to underground biology.
3) They are strongly dependent on historical biology.
4) They are strongly dependent on biological principles.
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PASSAGE 2:

It is natural to think of signaling systems in terms of the changes produced when an
extracellular signal is delivered. But it is just as important to consider what happens when the
signal is withdrawn. During development, transient extracellular signals often produce lasting
effects: they can trigger a change in the cell’s development that persists indefinitely through
cell memory mechanisms. In most cases in adult tissues. however. the response fades when a
signal ceases. Often the effect is transient because the signal exerts its effects by altering the
concentrations of intracellular molecules that are short-lived. undergoing continual turnover.
Thus, once the extracellular signal is gone. the replacement of the old molecules by new ones
wipes out all traces of the signal’s action. Consider, for example. two intracellular signaling
molecules X and Y. both of which are normally maintained at a concentration of 1000
molecules per cell. The cell synthesizes and degrades molecule Y at a rate of 100 molecules
per second, with each molecule having an average lifetime of 10 seconds. Molecule X has a
turnover rate that is 10 times slower than that of Y: it is both synthesized and degraded at a rate
of 10 molecules per second. so that each molecule has an average lifetime in the cell of 100
seconds. If a signal acting on the cell causes a tenfold increase in the synthesis rates of both X
and Y with no change in the molecular lifetimes. at the end of 1 second the concentration of Y
will have increased by nearly 900 molecules per cell, while the concentration of X will have
increased by only 90 molecules per cell. In fact, after a molecule’s synthesis rate has been
either increased or decreased abruptly, the time required for the molecule to shift halfway from
its old to its new equilibrium concentration is equal to its half-life that is. equal to the time that
would be required for its concentration to fall by half if all synthesis were stopped. Many cell
responses to extracellular signals depend on the conversion of intracellular signaling proteins
from an inactive to an active form. rather than on their synthesis or degradation.

21- Which of the following statements is correct?

1) Cell response depends on the gradient of extracellular signals.

2) Higher turnover of intracellular molecule influences positively cell response to

extracellular signal.

3) Usually the effect of extracellular signal depends on the cell memory in adult tissue.

4) The duration of response depends on the concentration of intracellular molecules.
22- What does “wipes out” in line 9 mean?

1) Instigates 2) Builds 3) Creates 4) Eradicates
23- Why does molecule Y reach higher concentration under the influence of

extracellular signal?

1) Because of its higher turnover

2) Because of phosphorylation of this protein by extracellular signal

3) Because of its higher half-life

4) Because it is not degradable
24- What is the most important factor by which extracellular signal leads to rapid cell

response?

1) Increased synthesis of intracellular molecule

2) Increased half-life of intracellular molecule

3) Increased activation of inactive intracellular molecule

4) Increased synthesis and degradation of intracellular molecule
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25- What could be concluded from the passage?

1) Lasting effect of an extracellular signal on cell response depends on its concentration.

2) The responding cells adopt different cell fates in accordance with their position in the
gradient,

3) The different levels of receptor activation lead to promptness of cell response to
extracellular signal.

4) A cell can alter the concentration of an intracellular molecule quickly only if the lifetime
of the molecule is short.

PASSAGE 3:

The optic pathway from the retina to the tectum presents one of the most complete examples of
the various kinds of guidance cues that are used in guiding a single axon from its origin to its
target. Retinal axons travel centrifugally from a peripheral location on the retina toward the
optic nerve. When they get to within about 50pum of the optic nerve head. they encounter a high
concentration ol netrin, which acts as an attractant for retinal ganglion cell (RGC) axons. At
the optic nerve head on the vitreal surface of the retina is a layer of the ECM molecule laminin.
The combination of laminin and netrin is repulsive rather than attractive. and so these retinal
axons turn away from the surface of the retina and dive into the optic nerve where they travel
until they enter the brain near the chiasm. Here they encounter the repulsive guidance molecule
Slit and the morphogen Shh that also acts as a repellent to RGC axons. Slit and Shh are
expressed anterior and posterior to the chiasm, but not in the chiasm itself. Thus, these
molecules corral the RGC axons into the chiasm proper. Zebra fish mutants called astray do
not have a functional Slit receptor in their RGCs, and in these mutants fewer RGC axons find
the chiasm. and many get lost when they enter the brain.

At the chiasm itself, there is a high concentration of another repulsive guidance molecule
called Ephrin B. The RGCs from the ventrotemporal part of the mouse retina express Eph B,
the receptor for Ephrin B, and so ventrotemporal retinal axons do not cross the chiasm but
remain ipsilateral while the dorsal and nasal axons. insensitive to Ephrin B. cross the chiasm to
the other side of the brain. Once in the optic tract, retinal axons are influenced by the repulsive
¢uidance cue Sema3A and the ECM heparan sulfate so that they are guided toward the tectum.
At the front of the tectum, the RGC axons encounter a sudden drop of FGF. which signals that
they have entered the target arca. In the target area. they encounter orthogonal gradients of
Ephrin A and Ephrin B that signify tectal coordinates.

26- Which of the following sentences is NOT correct?
1) Laminin coats the vitreous surface of the retina.
2) Netrin can act both as a repellent and attractant.
3) Laminin and netrin together act as attractants near the chiasm.
4) At the optic nerve head. high concentration of netrin acts as an attractant.
27- Where do the retinal axons encounter the Slit?
1) Anterior and posterior to the tectum  2) At the vitreal surface of the retina
3) At the front of the tectum 4) Near the chiasm
28- In Astray there are ..............
1) no expressions of the Slit receptors  2) non-functional Slit receptors
3) no RGC axons which enter the brain  4) no RGC axons which enter the chiasm
29- Which of the following statements is correct?
1) Eph B is a ligand for Ephrin B.
2) Ventrotemporal part of the retina expresses Ephrin B.
3) Dorsal and Nasal axons respond to Ephrin B and cross the chiasm.
4) Ventrotemporal retinal axons are sensitive to Ephrin B and do not cross the chiasm.
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30- Where do the retinal ganglion cell axons confront a dramatic decrease in FGF?
1) In the retina 2) In front of the tectum
3) In the chiasm 4) In the optic tract
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